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3 BC BC
10.tanA—Z tanA—a, =0 h= 30 He

X+2+X+3

113=|T‘i-'21$ = T = x=25
12. G i ~gaan Fear = 8
13. UTSYRIRY TAT FHT HYeT
arerar
¢A= £D= 45°, +/C = £F = 55" ; /B = £E = 80° (H&H&Y [l o HaTcl I0T HAT &1t &)

14. p(sNel 3 3T ) = % 3rerar P(Wﬁwmmﬁ)=% = %
15.cos 6 =—

13

16. 979 T TS = —— x 211 , &Il T AEE (r) = 33.6 cm

rgar
oS &1 vl = - x mr? = 2 em?
17. (i)c) 90° (i) b) RHS (iii) b) 2:9 (iv) c) 18 cm
v) W=wiw= dy >2< dz _ 8><212 — 48 cm?
18. (i) c) (0,0) (i) c) VIO &S (i) a) (2,3) (iv) a) (3.5,2.5)
(v) ¢) AR Tgse
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19. (i) c) T=Te (i) c) & =2r(+b) (i) b) 120 m®  (iv) b) 45 m?
(v) b) Rs. 6000

20. (i) d) Waer T (i) a) 2 (iii) b) -1, 3 (iv) ¢) X* - 2x -3
(v) a) -4
21. a=-3 gar 3x+y-5=0
22. x =2
23.u% STed foig @ el fondll ged o 90° & IUT TR gpehr TRl .
Yar fisar & @ at e ¥ | i
c=(@-r+0h-7)ic=a+b—2r; r=(*‘+2ﬂ
24. 3RETET )
25. tanA=%;cotA=2—74;tanA+cotA=%
3rgar 25x* = sec’
i—§=tan26 =>5(X2—Xi2) =2
26. a=24,d= -3 S,=78 ;. n%17n+52=0 n=4d3r13

27. AT &: TP=TQ RATHFETE: 2PTQ=2 L0PQ
£TPQ = £TQP = 2(180°- «PTQ) (WHefaTg fger & Fon)
£TPQ = £TQP = 90 > 2PTQ
<OPT = 90° ( ¥t fig o s a9 gt B)
£OPQ = £OPT-,TPQ = 90°-(90"- - 2PTQ)

£0PQ = /PTQ
ad: «PTQ = 2,0PQ

28.50 & & sl T WEar= 90, 100 & & =Alel & d&dmr = 110

29.“faUTHE <arT SATOr ¥ g Hifed

30. () P(Teh ar 3T & G = % = % =09 [10,11....90]
(i) P(vs qot ot d@em) =%= %= 0.1 [1,4,9,16.....81]
(i) P(c 5 & Romsw Tea) = = = = 5,10, 95]
JAYar

Fel Uod = 52- 4 = 48
AY Ued = 52-(2+2) = 48; AY A = 2; AV TellHA = 2

https://www.evidyarthi.in



(i) P(Teh STeT 0T 1 Tedll) = oo = 1

(i) P( wh g 3R 7 T ) = =
_ 6_1
T4

(iii) P(Ush STGRATE AT Teh SITH)

oo

31. ATAT ?:'TQ' Fr BFsar r=1.5m ?Q’ $r 3A18 hy =14m
TGN A ASAT R=15+4=55m TR HIFATS h, =?
V (F3) = V()
mr?hy = T(R? —r?)h, ﬂﬁ;—l’l’ﬁﬁ'lé’: 1.125m

32. 3fad o gaToT

33. AR HeT A = xkm/hr &l = 360 km/hr = THY = gl / AT = 360/x
360

FATER =2 - 222 = 48 HT A x = 45 km/hr
3ryar x =12
34. AT AD = Ffd &I 39S ; DB= AR AT 345 A
ADBC # tan 45° = 100/BC

= BC = 100 # D

AABC # tan 60°= 1T 100 # 45°
— x = 100(v3-1) & 60° :

rear B C

h =253 m, OB=25m , OD=75m

35. @, =—2 . n=28 ; Sy =- 441
36. Zfl =31 +f1 + fz = 50
f1+f2:19 ....i
X:Zfixi
x2fi
5f1+ 9f2=14‘3 .....ii
f2:12 ) f1:7
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